Subject: Re: Failed masses?
Posted by Renerage on Tue, 22 May 2007 02:54:00 GMT

View Forum Message <> Reply to Message

FrAM wrote on Fri, 18 May 2007 20:26n0 but i reckon 27 players of my skill level could crush 13
ekt... however i was unable to attend

27 decent players, who have been playing the game for more then a week,
Will usually win against 13.

Why?

Unless they are all idiots, they will APC rush, but have the man power back at the base to
mine/keep watch.

Then you have the point whore, oh god how we love those.

And, theres only 13x the credits coming in, to your 27.

Math for you?

13x2= 26 credits a second.

which = 1560 credits a minute. (I forget the exact credit increase rate, i thought a second was a
good guess)

27x2= 54 Credits per second
which = 3240

You see the difference?
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